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[image: image2.jpg]5. Humans e clasified accordig t the following
hierarchy:
Animalia
'
Chordata

Homa sapiens.

Which calegory is represented by Primates in the
ahove hivearchy?

(A) Ondor ) Genus
(©) Kingdom (©) Ramily
(8] Noneof these

6. Given below is a picture ofa disease cansed by
acubacteri

Identify the disease.

(4) Typhoid foves  (B) Totanus
©) Tuberculosis (D) Staphinfection
© Noneoftheso

7. Radiation s electrumagaetic waves that dirvetly
teansfer enorgy through space. Solar radiation
‘can be collected by wsing solar collection panels.
‘These solar panels axe ofien painted biack why?
() Toimprove refusal
®) Toimprove abormption

TR

©) Toreduce the heat loss:
) Toreduco the heater's conduction
() Nonoof these.

8. Match the folowing:

1. Sulphur (4) monoatomic
2. Nitwogen ) tetratomic
3. Amon (€) poly-atomic

4. Phosphorss @)
(4)1-C,2-A,3-D,4-8
@ 1-8,2-D,3-4.1-C
@1-C2-D.3-A4-B
) 1-C2-B,3-A4-D
{8) Nono of these

9. Consider the following two statement
Sutment & Worms mallily ey oy in
comparison to virus, bactoria
Stinet 5 Wars e ety G s
discases. Which of thefllowing iscorret with
respect o the above stlements?

(&) Sttcmant Bis lsoand Statemont A True:

8) Statemen Ai ulse and Statoment B True,

€) Both, Stotement A and Statement Bate True,

(D) Both, Statemont A and Statement B o Rls.

() Poth Statement Aand Siatement Baropartly
True.

10. Examine the graph and calculat the resistance
of the coil at the point Q7

(4) 120hms
® 520hms
(©) 13 0hms
) 0.40bms
® Noneof these
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[image: image3.jpg]1. Examine the above circuit and calculate the total
current flowing in the circuit.

(4) 2Bampere ®) 4ampere
(©) 025ampers (D) 3.7 ampors
() Noneof theso

at room temperaturein different states.
) Allof these
(E) Noneof theso

15. Sodium carbonate + ethanoic acid = sodium
ethanoate + carbon dioxide + waler
‘What does this equation signify?
(4) Sodiui carbonato roacts with ethanofc scid
®) Sodium carbonate and ethanic acid makes
sodium cthanoate

(€) Sodium carbonate seacts with ethanoicacid
10 make sodium cthanoate and carbon
dioxide

D) Eseruy can noither eroatod nor destzoyed
(E] Noneof these.

12. Jackobserved a stained epidermal pevl of aleaf
unde the microscope. It appears pinkish red.
Why?

() The stain used was colchicin

(B) The stain used was lodino

(€) ‘Thestain used was acetocarmino.
D) ‘The stain used was safranin

(E) Noneof these

13. Water vapour changes into water on cooling and.
‘causes rain. On cooling water vapour looses
some kind of energy. What kind of encrgy it
ooses?

(4) Potentislenersy () Kinsticenergy
(€) Hectrcalemergy (D) Mechanicalenergy
(€} Nons oftheso

14. Given below the features of metals and non
metals. Different colours, mainly two colours,
at o temperature in different tates,at oo
temperature notin different sates, sonorous,
non sonorous
(A) Metals: Diffeent colours, sonorous,at oom
temporature not in differont tates
Non melals: Non souoraus, mainly two
calours, al room temperature in differont
states

) Metals: Difrent colours, non sonorous,
room temperature not n differnt sates
‘Non melals: Sonarous, manly two colours,
at oom temperature i different tales

(©) Mstals: Mainly two colours, sonorous, at
room temperature not n diffrent tates
‘Nonmetals: Non sonorous, Diffeent colours,

REFi0S'1G/AGM

16, Whatis the full form of IUPAC?
(4) International union of power and applied
chemistry

and applicd

(€) Tnternational wnion of pure and appliod

©) International unit of pure and applicd

chemistry
) Noneof these.

17. Given bolow the featuresof b and cartlges,
Categorize the. Parous, non porous,inflexiblo,
Rexible, made up of protein and mineral sats,
‘made up of protcin only
(4) Hone: Non porous, inflexible, made up of
protcins only.
Cartilages: Porous, flexibe,
protein and minera salts.

) Bone: Non porous, inflexible,
proteinand minesl sals.
Cartilagos: Porous, flexible, made up of
proteins ol

€) Bone: Porous, infleiblo, mado p of proteins
ol
Cartlages: Non porous, inflexible, mado up
of protein and mineral sals.

©) Bono: Porous, inflexible, made up ofprotein
and minerol salts.
Gartilages: Non porous, inflexble, made up
of proteins only.

® Noneofthese
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[image: image4.jpg]8. Jack drops astone and a leaf from the top of a
thrce storey building. He notices thal stone
touchesthe ground inIes time than leavs. Why
does the leaftake more imo t touch the ground
in comparison ofstone?

(4) Because ofslow speed of leaf

(8) Bocauso ston accolerates fsterthan leal
(C) Bocause s surace arvais larger than s mass
D) Because leafaccelerates stee than stone
() None ofthese

19 Stove throws a ball vertically upwards while
playing with his rionds i the ground. The force.
‘applied by him made the all reach o the height
19,6 meters. How nuch tie docs the ball
taketomach e ighes poiat and rturnback
toSteve?

(A) 2secouds @) 3seconds
(©) 4seconds. ) 5seconds
(8] Nonoofthess

20, Barth aliracts everything towards itself. Then
why do the artificial satelltes not fall un the
sround?

(8) Bocause work done by the sarth s zero

) Because gravitational force reduces

(C) Bocauss boththo things pul each other and
maintaipa balanco

) Allof these

() Noneof theso

21, Astudent has thrve cubes, oue ssteel e with
‘405 mass and 100 cm® volume,second i silver
cubo with 30 § mass and 10 cin volume, and
hird isiron cube with 80 § mass and 100 cin®
volume. Conpare the cubs and find aut which
ol the ollowing cube s he ighestdeasity?
(A) Steel cube has highest donsity
8) Tron cube has highost density
(©) Silvercube has highest dansity
(0) Steel and silvor has samo dansity
{©) Nonoofthos

22, Predict that what will happen when you place

the entire above objects in the water?

(4) Objoct 1 and Objoct 3 willsick and Object 2
and Object 4 will lat in the water

(8) Objoct 1, Object 2, and Obioct 3 wil sink
‘and Object # willloatinthe waler

€) Object 1, Object 3, and Object 4 willsink
and Objot2 will loat i the water

) Object 4, Object 3, and Objoct 2 willsink
‘and Object 1 willoat i the water

) Noneaof these

23, There are various substances What wil flaat
casilyinoceanor salt water but thes: subsances
willsink i pure wate. Why these substances
willloatin pure waler butcan ot float i ocean
water or salt water?

(A) Tho oocan water i ighterthan the pure wler.

) The mass of ocean wateris groater than the
pum wator.

(€) Tho ocoan witerhasgresor density than he
pure water.

() The ocean water has less density than the
pure water,

(6).Nouoofthese.

24, Which one ofthe (allow
describes the relationship betoveen the buoyant
force and an object in a luid?

(4) Tho buoyaut forco s equal 1o tho volume of
the fuid that the object displaces.

) The buoyant force is equal fo the densityof
the fuid that the object displaces.

the buoyant force is equal o the volumo of
tho fuid thattho objoct displaces.

D) The buogant orce isoqual (o the weight of
the fluld that the object displaces.

) Nons oftheso

©

25, The atomic numbe of nitrogon is 7 and the

atomic mass is 13, How many clectrons in
nitrogen are valance electrons and how many
neutrons are prosent in tho nuclcus of the
nitrogen?
(3) 7 valanca eloctrons and 7 woutrons
) 7 valanca loctrons and 5 neutrons
(€) 5 valance electrons and 7 noutrons
) 2 alanco cloctrons and 7 newlions
(B Nonoof theso

REF/i0S1D/AGN




[image: image5.jpg]26. What is the acsleration of a train that starts
from railway station and attains speed of 30m/
Sin2minutes?

() 003msz @) Smis
(©) 87mis2 ) 0067 mis2
) Noneof thesa

27. Given below a it of property f lements:

Conductors

Lustrous

Electron doriors

Malleablo

Ductle

Lose lectrons

B

Insulators

Electron cceptors

Gain eloctrons
Sellct the optinn that correcily distinguishes the
‘Property ofmetals and nonmelals:

(8) Propertiesof Metals: Conduclors, Luscous,
Eletvon danors, Malleable, Ductile, and Lose
cectrons
Propertos of Nonhotas: Brite, Insulator,
Hlectron acceptors, and Gain olacirons
Propertiosof Metals: Conduclors, Lustrous,
Electron donors, Mallsable, Ductile, and Gain
clectrons
Properties of Nowmetals: i, nsulators,
Electson acceplors, and Lose electrons

®

€) Proporties of Metals: Conductors, Electron
donors, Brittle, Malleable, Ductil, and Loss:
clectrons

Proporties of Nonmetals: Lustrous,
Insulators, Electron accoptors, and Gain
clectrons

D) Properties of Motals: Conductors, Lustrous,
Electron donors, Ductil, and Gain shectrons.
Properties of Nonmetals: Hritl, Insulator,
Flectron acceptors, Malleable, and Lose
Hlectrons

() Noneof these:

26, Wheayou dissolve sugar i cold and hot water;
you can notice that the sugar dissolves more
quickly in ot water s compred o cold watee.

* Which one ofthe following factars can affects
therate ofsugar dissalsed o cold an Hot water?
(8) Temperaturv only
© Volune only

'REFOS'10/AGN

(C) Both temperatury and susfaco urea of the
solute
) Suface area of tho sohis nly

) Noneof theso

20. Astudent inlaboratory designs an experimont
tofind out the effectiveness offive moulhwashes
ol diferent brands, against samo bacteria. The
student cuts five square shaped paper towels
and soaks each in a different brand of
‘mouthwash. Then the student places the paper
towel saaked in mouthwash on a nutrient agar-
‘coated Peti dish that was covered with bacteria
commony found in the mouth, The plate was
incubated for 24 hours. Which one of the
folluwing will improve this experiment?

{A) Use different kinds of bacteria

) Useasmaller Pei dish

€) Uso the same type of mouthwash on each
squase shaped paper

) Use the same size paper squases for all
mouthwashes

(%) Nonwofthesa

An experiment is conducted for testing a new
AIDS medicine. Two groups conlaining equal
‘number of AIDS paticnt is formed. People in
oneof the group are given the AIDS medicine
and the people in another group ar given sugar
pills. The AIDS medicing in thisespecimont is:
(4) Control

© Constant

(C) Indopendent variblo

) Dependentvariable

) Noneof these

31, Anexperimentispesforma t fnd ot the effect
of sunlight on he growth of lant. Three swiall
plants are used foe thisexperiment, Oneof the
plants was planted inshadow and another o
woee planted such that hey receive diferent
amounis ofsunlight. Al he threo plants were
siven cqual amount of water and fertilizer. The
srowth of the plants was observed for o week
“The growth of the plant in this experiment i1

(A) Control
@) Constant

(C) Indepondent variable
(D) Dependontvasisble

) Noneof thess




[image: image6.jpg]2. A compound microscupe is used 1o sce the
‘magaificd image ofobjects. 1t has three objective
femsess the low pawer objective lens, the middle
power objective lens and the high power
objective leds. Which one of the following
statements is true about the magnification
‘produce by the different objective lenscs of the
microscope?

(A) 10x makes an object ook largor than 100
) 100x makes an object look largor than 400x
(€) 100xis cusicr to focus than 400x

() More details i visible in 100x than in 400x
() Noveof theso L

9. The practice of growing two or more crops in
the same field simultancously in a definite
pottern s called
(3) Misod cropping
®) tercropping
() Rotational cropping
) Allof theso
) Noneof theso

4. Inwhich foram nitrogen is presentinall heliving.
anganisms?
(A) Protei
®) Aminoacid
(€) Nucloicacid
©) Allof these
B} Noneof these.

36. Statement A:Roverberation s notthe
ol ropeated elecion. Lot
Statoment B: Ultrasonic sounds are of loss
imquency
(8) Statemont A s cormct
®) Statomani iscomct
(@ B Satement A snd B arecomect
D) Both Statement A nd B arsincormet
) Both Statomont A and Bare patlycoreeet

7. Inicompoun microscope three abjective enses
ane present, The abjective lenses are prosent fn
which portion of the wiceoscope?

(A) Eyepioce ®) Nosepioen
© Sugo ) Diaplrsgm
() Nonoo theso

38. Which one of the following graphs is suitable.
for representing population belween he age
roup af0-60 years? I for representing the age
Sroup, ata time a range of 5 years is epresented.
(&) Bargraph ®) Piechart
(©) Histogram D) Linograph
) Noncof theso

39. A driver decreases the speed af a school bus.
from 40 /s 1o 20m/s in 10 seconds. Calculate
the aceeleration of the bus?

@) 2mist W 6mst
(© -2ms? ™) -6mist
(8] Noneof theso

35, Which ane of the following is caused by
deficiency of vitamin K7
(A) Pellagra
B) Bleeding
(©) Cheilosis
() Noncof these
(®) Nonoof these

0. Whichane afthe follows
the Nowlon'sthird lave?
(8) Pusscager in a bus tonds to fal backivard,
when it starts suddenly.

®) Mudguaeds provided over the wheel,

Q) Asider falls forward when agalloping horse:
stops suddenly.

(0) A swinmer swims i a river

) Nowwof theso 2
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